

NIT संख्या. CMPDI/RI-III/CIVIL&ENV/NIQ/2022-23/140 / E-997027

दिनांक: 23-05-2022

TENDER NOTICE/ QUOTATION ENQUIRY

Sealed percentage rate quotations in single parts system, are invited from eligible contractors for the following work of CMPDI, RI-III, Ranchi:-

1	Name of the work	Construction of two numbers of toilets and two urinals along with septic tank arrangement at Rohini Sub-camp, Khalari, Ranchi, of CMPDI RI-III.
2	Estimated cost	₹1,44,694.30 (Rupees One Lakh Forty-four Thousand Six Hundred Ninety-four and Paise Thirty only)
3	Earnest money	₹1,810.00 in the form on Bank draft/demand draft from any Nationalised Bank/ scheduled bank drawn in favour of "CMPDI Limited, Regional Institute, Ranchi" payable at Ranchi only.
4	Period of completion	25 days
5	Cost of Tender Document:	NIL
6	Start Date of Bid Submission	From 10:00 am on 24.05.2022
7	Last date of submission of offers	Up to 11:00 am on 30.05.2022
8	Place of Submission of offers	Office of HOD (Civil & Env), CMPDI RI-3, Ranchi
9	Due date of opening of offer	At 11:30 am on 30.05.2022
10	Place of opening of tender	Office of HOD (Civil & Env), CMPDI RI-3, Ranchi
11	Tenders downloaded from website	Complete tender document can also be downloaded from CMPDI's Web site https://www.cmpdi.co.in

७०३२८०१२ 23/05/2022
विभागाध्यक्ष (सिविल एवं पर्यावरण)
सीएमपीडीआई, क्षेत्र-III, रांची

Copy to:

1. RD RI-III, for kind information
2. GM, Town Engineering Dept., CMPDIL HQ, Ranchi
3. All HOD, RI-III
4. Camp In-charge Barkakana, Orla, Hazaribagh for wide circulation.
5. Members- Tender Committee
5. Notice Board of RI-III office.

Sameer
23/05/22



NIT संख्या. CMPDI/RI-III/CIVIL&ENV/NIQ/2022-23/140/E-997027

दिनांक: 23-05-2022

TENDER DOCUMENT

- Sealed percentage rate quotations in single parts system, are invited from eligible contractors for the following work of CMPDI, RI-III, Ranchi:-

Sl. No.	Description of work	Location	Estimated Cost of work including GST (Rs.)	Earnest Money (Rs.)	Period of Completion
1	Construction of two numbers of toilets and two urinals along with septic tank arrangement at Rohini Sub-camp, Khalari, Ranchi, of CMPDI RI-III.	Khalari, Ranchi	₹1,44,694.30	₹1,810.00	25 days

2. Availability of Bid Documents:

Quotation documents including Bill of Quantity (BOQ), Terms and Conditions etc. can be obtained on request in writing from the Office of the HOD (Civil & Env), CMPDI, RI-3, Ranchi, PIN- 834008, on any working day from **24-05-2022 to 30-05-2022** during office hours. Quotation documents can also be downloaded from CMPDI website (www.cmpdi.co.in) during the above-mentioned period. There is no application fee.

3. Earnest Money

The Earnest Money is to be deposited in the form of Bank draft/demand draft from any Nationalised Bank/ scheduled bank drawn in favour of “CMPDI Limited, Regional Institute, Ranchi” payable at Ranchi only and its date of issuance should be on or after the date of issue of NIQ/ NIT. The earnest money/ Bid security of the unsuccessful bidder shall be refundable as promptly as possible and shall bear no interest. No Bid will be accepted unless accompanied in a separate envelope mark as earnest money.

4. Receipt of Bids:

Quotations can be submitted in sealed covers upto **11:00 am on 30-05-2022** in the Office of HOD (Civil & Env), CMPDI RI-3, Ranchi. In the event of specified date of submission is declared a Holiday by employer, the bid will be received up to the appointed time on the next working day.

5. Opening of Bids:

The quotation offer will be opened on the same day i.e. **30-05-2022 at 11:30 am** at the office of HOD(CIVIL& ENV.), CMPDI, RI-3, Ranchi in the presence of the attending bidders or their authorized representatives whosoever chooses to be

present in the office. In case of holiday on opening date, it will be opened on the next day at the same time and same place.

6. The company reserves the right to extend the date of submission and opening of bid or to cancel the bid without assigning any reason whatsoever.
7. The Company does not bind itself to accept the lowest offer and reserves the right to reject any or all the offers without assigning any reasons whatsoever and also to split up the work between two or more bidders, at its sole discretion.
8. NO QUOTATION WILL BE ACCEPTED THROUGH POST/ COURIER SERVICE.
9. The validity period of the Quotation bid shall be 120 days from the date of opening of price bid or revised price bid, if any whichever is later.
10. All pages of the submitted quotation documents and credentials are to be duly self-authenticated by the bidder / constituted attorney of the bidder with his signature including all cutting/overwriting, if any.
11. Completed and sealed Quotation documents to be submitted must include following documents:-
 - (a) **BOQ** (duly filled up Annexure I) & **signed copy of NIT** (on all pages) as a token of acceptance of terms and conditions of NIT along with the authorization to sign the tender documents in case the same are signed by a person other than owner / proprietor of the firm in a separate envelope super scribed as "**BOQ and Quotation Documents**".
 - (b) Duly self-authenticated credentials and earnest money in the form of Bank draft/demand draft in a separate envelope super scribed as "**Earnest Money and Credentials**".
 - (c) Above two envelopes should be submitted in a sealed envelope which must be super scribed with **Tender name, Tender notice number along with date at top of envelope and tenderer name & address at bottom left of envelope**.

Note: Bids without Earnest Money will be out rightly rejected.

12. The intending bidder has to submit the following **credentials** along with quotation document:

- i) **Permanent Account Number:**
Self-attested copy of **PAN Card** issued by Income Tax Department, Govt of India.
- ii) **Goods and Service Tax (GST) Status of Bidder** (Not Applicable for Exempted Services):
The following documents depending upon the status w.r.to GST as follows:
 - a) **Status:** GST registered bidder (but not under composition scheme)
OR
Status: GST registered bidder (under composition scheme)
Document: GST Registration Certificate (i.e. GST Identification Number) issued by appropriate authority of India.
 - b) **Status:** GST unregistered bidder

Document: A Certificate with UDIN from a practicing Chartered Accountant having membership number with Institute of Chartered Accountants of India certifying that the bidder is GST unregistered bidder/dealer in compliance with the relevant GST rules of India.

- iii) **Undertaking by Bidder/s on his/ her/ their Letter Head:**
Undertaking by bidder/s (on bidder's letter head) regarding genuineness of the information furnished by him and authenticity of the documents submitted by him in support of his eligibility, as per format given in NIT at Annexure II.
- iv) **Letter of Bid:**
Letter of bid to be submitted by bidder on bidder's letter head as per format given in NIT at Annexure III.
- v) **Mandate Form for electronic fund transfer / internet banking payment:** As per format given in NIT at Annexure IV
- vi) **Certificate for NIT Downloaded from Website:**
Certificate by the bidder/s for those who downloaded tender document from CMPDI website, as per Annexure V given in NIT.

- 13. The Bill of Quantity is enclosed in the quotation document and bidders are required to quote their rates both in amount as well as in the percentage below/ above the estimated value entered in the BOQ (inclusive of GST). In the event of arithmetical error in the amount quoted by the bidder, tender percentage and not the amount will be treated as final. The bidder has to quote rates in figure and words both. In case of any discrepancy in quoted rates in figure and words, the values indicated in words will be treated as final.
- 14. Conditional quotation offer will not be accepted.
- 15. Quotations shall be rejected outright without any reference if the documents submitted by the bidders along with their Quotation offer fail to prove eligibility in terms of above criteria. Documents submitted along with the Quotation shall be final and no supplementary document shall be accepted.
- 16. The work shall not be sublet to any other party, unless approved by Engineer-in-Charge, in writing. Prior permission is required to be taken from the company for engagement of sub-contractor in part work/piece rated work.
- 17. The decisions of CMPDI in awarding the work shall be final and cannot be subject to arbitration.
- 18. **Security Deposit:**
Security Deposit shall consist of three parts:
 - a) Earnest money deposit
 - a) Performance security to be submitted at award of work and
 - b) Retention Money to be recovered from running bills.The security deposit shall bear no interest
- 19. Performance Security should be 3% of contract amount and must be submitted within 21 days of receipt of LOA/ work order by the successful bidder in the form of Demand Draft from any nationalized/ scheduled bank drawn in favour of CMPDIL, Regional Institute-III, Ranchi payable at Ranchi.

Failure of the successful bidder to comply with the requirement as above shall constituted sufficient ground for cancellation of the award of work and action as stipulated in bid securing declaration

20.3% Performance Security should be refunded within 14 days of the issue of defect liability certificate (taking over certificate with a list of defects).

21. All running on account bills shall be paid at 95% (ninety five percent) of work value. This 5% (five percent) deduction towards Retention Money will be the second part of security deposit.

Retention Money should be refunded after issue of "No Defect Certificate" by the Engineer-in-Charge on the expiry of Defect Liability Period of six (06) months, subject to the conditions that any defect/ defects in the work, if detected after issue of defect liability certificate (Taking over certificate with list of defects) is/are rectified to the satisfaction of the Engineer-in-Charge within the said defect liability period of six (06) months or on its due extension till completion of the rectification works as required.

22. The Company shall be at liberty to deduct/appropriate from the security deposit such sums as are due and payable by the contractor to the company as may be determined in terms of the contract, and the amount appropriated from the security deposit shall have to be restored by further deduction from the contractors subsequent on account running bills, if any.

23. The general terms & conditions of civil engineering manual of CIL shall be applicable which can be accessed from Coal India website www.coalindia.in or can be seen from the office of the HOD (Civil & Environment), CMPDI RI-III, Ranchi. The special conditions shall supersede the general terms and conditions of contract, wherever applicable.

BIIL OF QUANTITY (BOQ)

NAME OF THE WORK	Construction of two numbers of toilets and two urinals along with septic tank arrangement at Rohini Sub-camp, Khalari, Ranchi, of CMPDI RI-III.		
NIT NO. & DATE	CMPDI/RI-III/CIVIL&ENV/NIQ/2022-23/140/E-997027 Dated: 23-05-2022		
INPUT TAX AVAILABLE / NOT AVAILABLE	ITC NOT AVAILABLE		
RATE OF GST (in %)	18%		
STATUS OF BIDDER W.R.T. GST [PLEASE MARK (✓) AS APPLICABLE]	(a)	GST REGISTERED BIDDER UNDER REGULAR SCHEME	
	(b)	GST REGISTERED BIDDER UNDER COMPOSITION SCHEME	
	(c)	GST UNREGISTERED BIDDER	

Sl. No.	Description of Items	Unit	Quantity	Rate (Rs) without GST	Amount (Rs) without GST
1	Earth work in excavation by mechanical means (Hydraulic excavator) /manual means in foundation trenches or drains (not exceeding 1.5 m in width or 10 sqm on plan), including dressing of sides and ramming of bottoms, lift upto 1.5 m, including getting out the excavated soil and disposal of surplus excavated soil as directed, within a lead of 50 m. - All kinds of soil	cum	1.99	221.21	439.99
2	Earth work in excavation by mechanical means (Hydraulic excavator)/manual means over areas (exceeding 30 cm in depth, 1.5 m in width as well as 10 sqm on plan) including getting out and disposal of excavated earth lead upto 50 m and lift upto 1.5 m, as directed by Engineer-in-charge. All kinds of soil	cum	7.12	159.44	1,135.23
3	Filling available excavated earth (excluding rock) in trenches, plinth, sides of foundations etc. in layers not exceeding 20 cm in depth, consolidating each deposited layer by ramming and watering, lead up to 50 m and lift up to 1.5 m.	cum	1.19	192.59	229.32
4	Supplying and filling in plinth with sand under floors, including watering, ramming, consolidating and dressing complete	cum	0.16	1,712.41	277.41
5	Providing and laying in position cement concrete of specified grade excluding the cost of centering and shuttering - All work up to plinth level: 1:4:8 (1 Cement : 4 coarse sand (zone-III) : 8 graded stone aggregate 40 mm nominal size)	cum	1.46	5,076.24	7,416.86
6	Brick work with common burnt clay F.P.S. (non modular) bricks of class designation 7.5 in foundation and plinth in: Cement mortar 1:6 (1 cement : 6 coarse sand)	cum	4.57	5,398.76	24,675.82
7	Half brick masonry with common burnt clay F.P.S. (non modular) bricks of class designation 7.5 in foundations and plinth in : cement mortar 1:4 (1 cement : 4 coarse sand)	sqm	3.81	678.41	2,587.05
8	Half brick masonry with common burnt clay F.P.S. (non modular) bricks of class designation 7.5 in superstructure above plinth level up to floor V level. Cement mortar 1:4 (1 cement :4 coarse sand)	sqm	13.10	817.25	10,703.73

9	12 mm cement plaster of mix : 1:6 (1 cement: 6 fine sand)	sqm	44.03	222.92	9,815.45
10	Finishing walls with water proofing cement paint of required shade :New work (Two or more coats applied @ 3.84 kg/10 sqm)	sqm	14.17	80.01	1,134.12
11	Neat cement punning	sqm	14.64	55.02	805.41
12	Cement concrete flooring 1:2:4 (1 cement : 2 coarse sand : 4 graded stone aggregate) finished with a floating coat of neat cement, including cement slurry, but excluding the cost of nosing of steps etc. complete. 40 mm thick with 20 mm nominal size stone aggregate	sqm	4.95	436.95	2,164.91
13	Cement plaster skirting up to 30 cm height, with cement mortar 1:3 (1 cement : 3 coarse sand), finished with a floating coat of neat cement. 18 mm thick	sqm	2.25	456.94	1,029.49
14	Providing and fixing water closet squatting pan (Indian type W.C. pan) with 100 mm sand cast Iron P or S trap, 10 litre low level white P.V.C. flushing cistern, including flush pipe, with manually controlled device (handle lever) conforming to IS : 7231, with all fittings and fixtures complete, including cutting and making good the walls and floors wherever required: White Vitreous china Orissa pattern W.C. pan of size 580x440 mm with integral type foot rests	each	2.00	4,753.49	9,506.98
15	Providing precast cement concrete Jali 1:2:4 (1 cement : 2 coarse sand(zone-III) : 4 graded stone aggregate 6mm nominal size), reinforced with 1.6 mm dia mild steel wire, including centering and shuttering, roughening cleaning, fixing and finishing in cement mortar 1:3 (1 cement: 3 fine sand) etc. complete, excluding plastering of the jambs, sills and soffits. 25 mm thick	sqm	0.18	1,047.72	188.59
16	Making plinth protection 50mm thick of cement concrete 1:3:6 (1 cement : 3 coarse sand (zone - III) : 6 graded stone aggregate 20 mm nominal size) over 75mm thick bed of dry brick ballast 40 mm nominal size, well rammed and consolidated and grouted with fine sand, including necessary excavation, levelling & dressing & finishing the top smooth.	sqm	2.17	538.39	1,169.65
17	Providing and fixing precoated galvanised iron profile sheets (size, shape and pitch of corrugation as approved by Engineer-in-charge) 0.50 mm (+ 0.05 %) total coated thickness with zinc coating 120 grams per sqm as per IS: 277, in 240 mpa steel grade, 5-7 microns epoxy primer on both side of the sheet and polyester top coat 15-18 microns. Sheet should have protective guard film of 25 microns minimum to avoid scratches during transportation and should be supplied in single length upto 12 metre or as desired by Engineer-in-charge. The sheet shall be fixed using self drilling /self tapping screws of size (5.5x 55 mm) with EPDM seal, complete upto any pitch in horizontal/ vertical or curved surfaces, excluding the cost of purlins, rafters and trusses and including cutting to size and shape wherever required.	sqm	3.76	550.23	2,067.42
18	Structural steel work in single section, fixed with or without connecting plate,including cutting, hoisting, fixing in position and applying a priming coat of approved steel primer all complete.	kg	22.78	75.45	1,718.74

19	Providing and fixing factory made uPVC door frame made of uPVC extruded sections having an overall dimension as below (tolerance ± 1 mm), with wall thickness 2.0 mm (± 0.2 mm), corners of the door frame to be Jointed with galvanized brackets and stainless steel screws, joints mitred and Plastic welded. The hinge side vertical of the frames reinforced by galvanized M.S. tube of size 19 X 19 mm and 1mm (± 0.1 mm) wall thickness and 3 nos. stainless steel hinges fixed to the frame complete as per manufacturer's specification and direction of Engineer-in-charge Extruded section profile size 48x40 mm	metre	9.35	194.34	1,817.08
20	Providing and fixing to existing door frames. 24 mm thick factory made PVC door shutters made of styles and rails of a uPVC hollow section of size 59x24 mm and wall thickness 2 mm (± 0.2 mm) with inbuilt edging on both sides. The styles and rails mitred and joint at the corners by means of M.S. galvanised/ plastic brackets of size 75x220 mm having wall thickness 1.0 mm and stainless steel screws. The styles of the shutter reinforced by inserting galvanised M.S. tube of size 20x20 mm and 1 mm (± 0.1 mm) wall thickness. The lock rail made up of 'H' section, a uPVC hollow section of size 100x24 mm and 2 mm (± 0.2 mm) wall thickness, fixed to the shutter styles by means of plastic/galvanised M.S. 'U' cleats. The shutter frame filled with a uPVC multi-chambered single panel of size not less than 620 mm, having over all thickness of 20 mm and 1 mm (± 0.1 mm) wall thickness. The panels filled vertically and tie bar at two places by inserting horizontally 6 mm galvanised M.S. rod and fastened with nuts and washers, complete as per manufacturer's specification and direction of Engineer-in-charge. (For W.C. and bathroom door shutter).	sqm	2.70	1,543.76	4,168.15
21	Providing and laying damp-proof course 40mm thick with cement concrete 1:2:4 (1 cement : 2 coarse sand (zone-III): 4 graded stone aggregate 12.5mm nominal size)	sqm	1.81	305.03	553.54
22	Providing and fixing ISI marked oxidised M.S. handles conforming to IS:4992 with necessary screws etc. complete : 100 mm	each	2.00	24.51	49.02
23	Providing and fixing ISI marked oxidised M.S. tower bolt black finish, (Barrel type) with necessary screws etc. complete : 100x10 mm	each	2.00	33.93	67.86
24	Providing and fixing ISI marked oxidised M.S. sliding door bolts with nuts and screws etc. complete : 250x16 mm	each	2.00	149.05	298.10
25	Providing and fixing Chlorinated Polyvinyl Chloride (CPVC) pipes, having thermal stability for hot & cold water supply, including all CPVC plain & brass threaded fittings, including fixing the pipe with clamps at 1.00 m spacing. This includes jointing of pipes & fittings with one step CPVC solvent cement and testing of joints complete as per direction of Engineer in Charge. 20 mm nominal outer dia Pipes. Internal Work - Exposed on wall	metre	5.23	269.13	1,406.20
26	Providing and fixing Chlorinated Polyvinyl Chloride (CPVC) pipes, having thermal stability for hot & cold water supply, including all CPVC plain & brass threaded fittings, including fixing the pipe with clamps at 1.00 m spacing. This includes jointing of pipes & fittings with one step CPVC solvent cement and testing of joints complete as per direction of Engi-	metre	32.03	323.71	10,368.43

	neer in Charge. 25 mm nominal outer dia Pipes. Internal Work - Exposed on wall				
27	Providing and fixing C.P. brass bib cock of approved quality conforming to IS:8931 : 15 mm nominal bore	each	2.00	367.33	734.66
28	Providing and fixing gun metal gate valve with C.I. wheel of approved quality (screwed end) : 25 mm nominal bore	each	1.00	435.89	435.89
29	Providing and fixing white vitreous china wash basin including making all connections but excluding the cost of fittings : Flat back wash basin of size 630x450 mm	each	1.00	999.01	999.01
30	Providing and fixing uplasticised PVC connection pipe with brass unions :45 cm length 15 mm nominal bore	each	5.00	72.77	363.85
31	Providing and fixing C.P. brass angle valve for basin mixer and geyser points of approved quality conforming to IS:8931. 15mm nominal bore	each	5.00	466.45	2,332.25
32	Providing and fixing P.V.C. waste pipe for sink or wash basin including P.V.C. waste fittings complete - Flexible pipe : 32mm dia	each	3.00	88.64	265.92
33	Making connection of G.I. distribution branch with G.I. main of following sizes by providing and fixing tee, ncluding cutting and threading the pipe etc. complete : 25 to 40 mm nominal bore	each	1.00	590.47	590.47
34	Providing and fixing soil, waste and vent pipes : 100 mm dia Sand cast iron S&S pipe as per IS: 1729	metre	9.35	883.98	8,260.79
35	Providing and fixing plain bend of required degree. 100 mm dia Sand cast iron S&S as per IS - 1729	each	5.00	334.36	1,671.80
36	Providing and laying in position specified grade of reinforced cement concrete, excluding the cost of centering, shuttering, finishing and reinforcement - All work up to plinth level : 1:2:4 (1 cement : 2 coarse sand (zone-III) : 4 graded stone aggregate 20 mm nominal size)	cum	0.43	6,397.34	2,744.29
37	Providing, hoisting and fixing up to floor five level precast reinforced cement concrete in small lintels not exceeding 1.5m clear span up to floor five level, including the cost of required centering, shuttering but , excluding the cost of reinforcement, with 1:1.5:3 (1 cement : 1.5 coarse sand(zone- III) : 3 graded stone aggregate 20 mm nominal size).	cum	0.01	10,928.48	90.99
38	Constructing soak pit 1.20x1.20x1.20 m filled with brickbats including S.W. drain pipe 100 mm diameter and 1.20 m long complete as per standard design.	each	1.00	2,286.66	2,286.66
39	Steel reinforcement for R.C.C. work including straightening, cutting, bending, placing in position and binding all complete upto plinth level. Mild steel and Medium Tensile steel bars	Kg	34.98	71.98	2,518.14
40	Providing and fixing white vitreous china flat back or wall corner type lipped front urinal basin of 430x260x350 mm or 340x410x265 mm sizes respectively.	each	2.00	1,139.60	2,279.20
41	Brick on edge flooring with bricks of class designation 7.5 on a bed of 12 mm cement mortar, including filling the joints with same mortar, with common burnt clay non modular bricks: 1:6 (1cement : 6 coarse sand)	sqm	1.43	727.25	1,039.97
42	Providing and fixing PTMT grating of approved quality and colour. Circular type 125 mm nominal dia with 25 mm waste hole	each	1.00	44.94	44.94

43	Providing and fixing PTMT pillar cock of approved quality and colour. 15 mm nominal bore, 107 mm long, weighing not less than 110 gms	each	1.00	168.91	168.91
			Total without GST	₹1,22,622.29	
			GST @ 18%	₹22,072.01	
			Total estimated cost inclusive of GST	₹1,44,694.30	

Note: Bidders are requested to quote their rate in figure & words both.

I AGREE TO EXECUTE THE WORK at% (in words%) ABOVE / BELOW THE ESTIMATED COST.

Total amount quoted by the bidder (with GST) in Rs. _____
 (in words) Rs _____

SIGNATURE OF BIDDER WITH SEAL

ANNEXURE-II

PROFORMA FOR UNDERTAKING TO BE SUBMITTED BY BIDDER/S (ON BIDDER'S LETTER HEAD) FOR GENUINENESS OF THE INFORMATION FURNISHED AND AUTHENTICITY OF THE DOCUMENTS SUBMITTED IN SUPPORT OF HIS ELIGIBILITY

FORMAT OF UNDERTAKING

I / We, Proprietor/Partner/Legal Attorney/Director/ Accredited Representative of M/S., solemnly declare that:

1. I/We am/are submitting bid for the work "Construction of two numbers of toilets and two urinals along with septic tank arrangement at Rohini Sub-camp, Khalari, Ranchi, of CMPDI RI-III" against NIT no. CMPDI/RI-III/CIVIL&ENV/NIQ/2022-23/140/E-997027 dated 23.05.2022 and I/we offer to execute the work in accordance with all the terms, conditions and provisions of the bid.
2. Myself/Our Partners/Directors don't has/have any relative as employee of Central Mine Planning & Design Institute

Or

The details of relatives of Myself/ Our Partners/ Directors working as employee of Central Mine Planning & Design Institute is as follows:

- a. Name of the employee
- b. Place of posting
- c. Department
- d. Designation
- e. Type of relation – Wife/ Husband/ Father/ Step Father/ Mother/ Step-Mother/ Son/ Step-Son/ Son's wife/ Daughter/ Daughter's Husband/ Brother/ Step-Brother/ Sister/Step-Sister.
3. All information furnished by me / us in respect of fulfilment of eligibility criteria and qualification information of this Bid is complete, correct and true.
4. All copies of credentials and documents submitted along with this Bid are genuine, authentic, true and valid.
5. I/ We hereby authorize department to seek references / clarifications from our Bankers.
6. I / We hereby undertake that we shall register and obtain license from the competent authority under the contract labour (Regulation & Abolition Act) as relevant, if applicable.
7. I/we do not have relationship with any other participating bidders, directly or through common third parties that puts us in a position to have access to information about or influence on the bid of another Bidder.
8. I/we or any of my/our affiliate has/have not participated as consultant in the preparation of the design or technical specification of the contract that is the subject of the bid.
9. *I/We hereby confirm that we have registration with CMPF / EPF Authorities. We shall make necessary payments as required under law.

Or

*I/We hereby undertake that we shall take appropriate steps for registration as relevant under CMPF / EPF authorities, if applicable. We shall make necessary payments as required under law.

10. *I/We have not been banned or delisted by any Govt., or Quasi Govt. Agencies or PSUs.

Or

*I / Wehave been banned by the organization named " _____" for a period of..... year/s, effective from To.....

11. We,.....
.....(Name of Partners of Partnership Firm), partners of(Name of Partnership Firm/Joint Venture) hereby consent to abide by the provisions of General Terms and Conditions pertaining to arbitration.

(Note : - Applicable in case of Partnership firm)

12. Certificate regarding compliance to order no.F.No.6/18/2019-PPD dt 23/7/2020 as amended from time to time of Ministry of Finance, Dept of Expenditure, Public Procurement Division with respect to restrictions on procurement of goods, services or works from a bidder of a country which shares a land border with India and on sub-contracting to contractors from such countries:

I/we have read the Clause regarding restrictions on procurement from a bidder of a country which shares a land border with India and on sub-contracting to contractors from such countries; I/we certify that I am/ we are not from such a country or, if from such a country, has/have been registered with the Competent Authority and will not sub-contract any work to a contractor from such countries unless such contractor is registered with the Competent Authority. I hereby certify that I/we fulfil all requirements in this regard and I am/ we are eligible to be considered.

(Where applicable, evidence of Competent Authority shall be attached.)

13. If any information and document submitted is found to be false/ incorrect at any time, department may cancel my/our Bid and action as deemed fit may be taken against me/us, including termination of the contract, forfeiture of all dues and banning of our firm and all partners of the firm for 01 (one) years from being eligible to submit Bids in CMPDI from the date of issue of such letter .

14. I / we have read, understood and agreed to the prevalent Standard General terms and Conditions of Contract of CMPDI for civil contracts which is applicable for this quotation notice.

* Delete whichever is not applicable.

Dated.....

SIGNATURE OF BIDDER

(In case of Partnership firm, signature of all partners with name)

ANNEXURE-III

**(PROFORMA FOR LETTER OF BID TO BE SUBMITTED BY BIDDER IN LETTER
HEAD)**

LETTER OF BID

Ref.: -

Dated: -/ /

To,

The HOD (Civil & Environment)
CMPDI RI-III, Ranchi

Ref.: - CMPDI/RI-III/CIVIL&ENV/NIQ/2022-23/

Dated:

Dear Sir,

With reference to the above referred NIT we are pleased to offer you our lowest quotation with the following details.

1. Name and Full Address of the firm:
 2. Type/Status of the firm:
- (Indicate whether Company / Partnership firm/ Proprietorship firm etc.)
3. Name & designation of the firm authorized to sign the tender documents:
- (Please submit the copy of authorization with signature duly attested in case the tender is signed by person other than the proprietor / owner of the firm)
4. We have submitted signed and stamped copy of all the pages of NIT terms and conditions as token of acceptance of commercial & general terms and conditions of NIT.
 5. Our GSTIN No. is (Photocopy of GSTIN proof attached)
 6. Our PAN No. is (Photocopy of PAN card enclosed)
 7. We have submitted Price Bid as per format mentioned under Annexure-I.
 8. We have submitted Undertaking as per format mentioned under Annexure-II.
 9. Our Registered E-mail ID (Please indicate your firms registered E-mail ID):
 10. Our Contact Number:

Full signature & Seal of the authorized person

ANNEXURE IV**Mandate Form for ELECTRONIC FUND TRANSFER / INTERNET BANKING PAYMENT.****To****Central Mine Planning & Design Institute Limited, RI-3,
Gondwana Place, Kanke Road, Ranchi - 834008.****Sub:** Authorization for release of payment due from Central Mine Planning & Design Institute Limited, RI-3, Gondwana Place, Kanke Road, Ranchi through Electronic Fund transfer/ Internet Banking.

(SBI-NET)

Ref: Order No. _____ Date _____ and/or Tender/Enquiry/Letter No. _____ Date _____

(Please fill in the information in CAPITAL LETTERS, Please TICK wherever it is applicable).

1. Name of the Party : _____
2. Address of the Party : _____
City _____ PIN Code _____
3. E-Mail Id _____
4. Permanent Account Number (PAN) _____
5. Particulars of Bank

Bank Name					Branch Name		
Branch Place					Branch City		
PIN Code					Branch Code		
MICR No.							
(9 Digits code number appearing on the MICR Band of the cheque supplied by the Bank. Please attach Xerox copy of a cheque of your bank for ensuring accuracy of the bank name, branch name and code number)							
RTGS CODE							
Account Type	Savings	Current			Cash Credit		
Account Number (as appearing in the Cheque Book)							

- 4. Date from which the mandate should be effective:**
- _____

I hereby declare that the particulars given above are correct and complete. If any transaction is delayed or not effected for reasons of incomplete or incorrect information. I shall not hold Central Mine Planning & Design Institute Limited responsible. I also undertake to advise any change in the particulars of my account to facilitate updation of records for purpose of credit of amount through SBI Net.

Place:

Date:

Signature of the party/Authorized Signatory.

Certified that the particulars furnished above are correct as per our records.

Banker's Stamp : _____

Date:

(Signature of the Authorized official from the Banks)

**CERTIFICATE FROM THE TENDERER THOSE WHO DOWN LOADED TENDER
DOCUMENT FROM WEBSITE**

This is to certify that I/We have downloaded this tender document from CMPDIL website and is being submitted without tempering at any page. Further we understand that in the event of such tempering being detected at any stage or time, CMPDIL has the right to terminate this work, forfeit the EMD / Security Deposit submitted by us and our firm can be black listed.

(Signature of authorized person with Seal & Date)